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S1 Paper K — Marking Guide

0.4129

1. (@  AbxdlxZ =3 0r0.295 (3sf) M2 Al
5114 — 11
(b) Ex}—sxﬁ = llﬁ or 0.0655 (3sf) M2 Al
(c) 3 x%x%x%g = 5—52 or 0.491 (3sf) M3 Al (10)
2. (@ Sy =10131— 703 =246.82 Ml
Sun—1338.5— 2 30672 MI
Sun=3253.5— % =202.48 MI
_ 202.48 _
T /246.82x396.72 0.6471 ML Al
r is strongly +ve showing that older pupils tend to do more homework Bl
(b)  e.g. younger pupils are set less homework and also do little or no paid
work etc. apparent correlation is because both correlate with age B2
(c) e.g. collect data from one year group, likely to have similar amounts
of homework set, so will see effect of paid work B2 10)
3. (@)  midpoints: 20, 60, 100, 140, 180, 250, 350, 500 M1
> fm = 8060 Al
mean = 80 =876 (3sf) M1 Al
>t =1 700 600 Al
std. dev. = /T80 _ (87.609)° — 104 (3sf) M2 Al
(b)  e.g. data very skewed, mean and std. dev. strongly affected by
a few very large values B2
(c) e.g. median and IQR Bl (68))
4. (@ Pz<25EL)_pz<089)=0.1867 M2 Al
) Pz>E7EHL ) —pz>133)=0.0918 M1 Al
. in 90 days expect 0.0918 X 90 = 8.26 ... 8 times M1 Al
P(22<X<24
© Pr<24lx>22)= L2520 MI Al
P(X>22)=P(Z> 2588 ) = p(z>0.22)=0.4129 M1 Al
P22 <X<24)=P(X>22)-P(X>24)=0.3211 M1
- require 232LL = (778 (3sf) Al a3)
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(@ 8,4,3,1 Al

(b) 4 months Al
(¢) n=31; Q =8"=6months MI Al
Q,=16" = 15 months Al
Q; = 24" = 30 months Al
(d Q3-Q=30-6=24 M1
limits are 6 — (1.5 x 24) =730 and 30 + (1.5 X 24) = 66 M1
.. 70 is an outlier Al
(e)
0 10 20 30 40 50 60 70 80 B3
1) +ve skew B1
e.g. lot of people unemployed for a short time, only a few for a long time B1 (14)
(a)  discrete uniform Bl
®) 2 Al
_ 1,3_1
(C) sz(b)_%+7+1_1 M1 Al
(d) P(C:2):P(A:1andB:1):%><%:% M2 Al
@ P(C=3)=(3x3)+(3x3)=7
P(C:4):(%x%)+(%x%)+(%x%): %
P(C=5)=(ix3)+(3x5)=1
P(C:6):(%x%):% M3 A3
c | 2 3 4 5 6
pe=o | & 4 4 4 %
_ —1,3,4,5 _1
(]9 E(C)—ZCP(C)—§+E+§+E+%—T M1 Al
E(4)+EMB)=2+ %: % - E(C)=E(4) + E(B) M1 A1l (17)
Total (75)
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Performance Record — S1 Paper K

Question no. 1 2 3 4 5 6 Total
1 probability pmcc mean and | normal stem & discrete
TOp IC(S) std. dev. dist. leaf, I.v.
quartiles,
boxplot
Marks 10 10 11 13 14 17 75
Student
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